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Multimeter measures

(a) Voltage

(b) Curent
(c) Resistance

(d) All of the above

Voltrneter is connected to measure
voltage in the circuit

(a) in parallel

(b) in series

(c) either in parallel or series

(d) None ofthe above

Which device is used to @nvert a.c.
current into d.c. current ?

(a) Rectifier

O) Amplifier
(c) lnverter
(d) None of the abov" 

*.r.o.

(tt)

l. l.
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All Questions are compulsory and each question is of 1 mark.

sht qrqral I qar dl+ *+ ffi it qnE? o4qn a? qa t r

Only English version is valid in case of dffirence in both the languages.

q-d+d{tcrr}*
(a) #q
(b) qRr

(c) cftriq
(d) Bc+n{'fr

ffi.{+i #q qrqi +fuqqfrqq ii#t
(a) {{lll<r{firri[
O) Mmq{
(c) o$ trrdr m'c { ilr 6,rtt irft

s,cil
(d) Y+tit+tTfi

rer+cT tm Et fteqnr { q-qil+ +frq
+t+rftf<+reii*itr
(a) M
(b) rq++.
(c) Eq&
(d) Erdt+$Tfi
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4. q+- *srstffd Wi-{ +i t}s qm

5opA t +ss+1qntmldfi t

(c)

(d)

r-d*er +r l5< cftrfrr *-s c{ +dT t
(a) +Td+i.+(
6y *-*o<i**t
(c) +sit
(d) sfi.t

furrcmq{ iE c-d+fi st ETfd qkqlqr
qftqq61efu{qrt

(a) srfrrod-*qftq t

6y ord$utft< t

(c) q{rq{*+qlftq I

(d) Eadt+i.Tfi

EffiFr+- ffia tt rtga rk<mt

#ffid@+.{n
(a) 4sP6ffit t

(b) erflfr'ro+,c+&t t

(c) *qn+tffit r

(d) qarrfi r

\16 dqt{trd u-ati-+.;i rt5e +dr t
(a) Vor+aftrf+5e
&1 q'6fi-fisErr5{Td
(c) (1.6, a{strq fige ill qd6. iil-

r+Errrrgc
(d) Ecitftt${fi

kc)
20 uol,

ko
200 -;votl

ko
- volt

ko
2ooo 

"or,

(a)

o)

5.

6.

7.

8.

(2) 2055

A d'Arsonval movement is rated at

50 lA. Its sensitivity is

ko(a) 20;it

(b)

(c)

(d)

5. Zerc resistance is on the multimeter
scale

(a) ooly left side

(b) only right side

(c) centre position

(d) anywhere

6. Input impedance of the multimeter
should bo than circuit
impedance, for voltage measurernent.

(a) should be higher

O) should be lesssr

(c) should be equal

(d) none ofthe above

7. Input imPedance of the electronic
than the electricalvoltueter is

voltmeter.
(a) very much high

(b) very much low
(c) is equal to
(d) do not know

8. An operational amplifier have the

input
(a) an inverting inPut

(b) non-invertinginPut
(c) an inverting inPut and a non-

inverting inPut

(d) none ofthe above

4.

ko200 --volr

ko1-
" volt

ko
2000--=volr
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9. tq q-sr qiF+-offie{ ii +}s ffi'+,
q-ds strrtrrdr tEldr t
(a) ftqtqqqsvt<{ur
(b) qqqtffiFcl<{q
(c) ffitqmsqr<ur
(d) qmttdqsqrd{q

lO. qdr slrFsaFr n+n* qifu-offier*
fr{rrd ,rs*+. t ftftr tqrm+. ii
grfr+fl8+.+crt

ll. a;+gt+lur -6 d.Sfua s-Nfud o'{dr
t
(a) sf-Nr{sdfrda;*s
O) sr+s
(c) efra qqrq

(d) wqqdfr-dtr{q

csS.rrr.qt. Aqrqit
(a) u-flI+dTffi(tiiqnr
(b) Mddq$qrr
(c) +q+iur\tienqfu
(d) sr+nq$

F6{ur rd +t foiqur {crkdr A-&

frsiqur
ffi-ffi

fuiqq
ffiffi
tqeiqor

{r.I
fo*qur

ffi

(r) cftriq
(c) +t-ffi

(b) tqlir,
(d) qftua

sFI: ffirdfo(+d

+furqc+
fitffit

12.

13. PIIq
t
(a)

(b)

(c)

(d)

aunq fu{q.rd 61
6
(a) +ie;{t
(c) dtsqct

o)
(d)

14.
14.

(3) 2065

In a ramp type digital voltsneter using
gated clock pulses occurs

(a) Voltage to time conversion

(b) Time to voltage conversion

(c) Voltage to current conversion

(d) Current to voltage conversion

ln a integrating type digital voltmeter
the integra.tor made by operational
amplifier have the feedback
compoDsnt as

G) Resistanc.e
(c) Inductor

9.

10.

(b) Capacitor
(d) Oscillator

12.

11. The source of ernission of electrons
in a CRT is
(a) oxide coated cathode
(b) diode
(c) accelerating anode
(d) post accelerating anode

A C.R.O. can used to measure

(a) A.C. voltage aud current
(b) D.C. voltage and current
(c) Phase angle and frequency
(d) All ofthe above

13. Deflection sensitivity of a C.R.T. is
deflection

(a)

(b)

(c)

(d)

defectrion voltage

deflection
accelerating voltage

deflection
time

deflection
frequency

The inner surface of
coated

(a) with phosphor (b)

(c) with sodium (d)

the CRT is

with calcium

with nickel

P.T.O.
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15. l[@riT: fr.enr.d ii H atCr fffi+
non+1s.re-ar tfrt I
(a) \ts T fiR 6t

O) tn+n+t
(c) *asqrol
(d) qnv-or+t

16. +6fr S.srR.d. +cil{*qir.nd-fr t
(a) #*e\rs'

O) deratl-qf,T

(c) frt srfrT-qf,q

(d) Er{t6}€Tfi

17. ritq *ffiqEr qqqrurtcq6tdr
t
(a) {6u-Es{
(b) ftdd-+o-qgn

(c) s'rci ii
(d) sqiffiHfi

nrE {FrFr qrrnq qd {qH ![r{fr +{k
+i, k{fl +q +trr or q<r 90" t
s?stE{ \,ii dFrs d2i ct t+ t, d
fr.ern d. +t st+ c{ crsc aqt n

(a) ftfrtqr
(b) Ttr
(c) ftr+dr
(d) aqqr+dr

fr;S ery< qftcq 6r dtq +-€{ q
+drt

WL
(b) zfr-

I

18.

19.

(a)

(c)

WoL

R

WoR

L (d) w"LR
(d) WLR

(4) 2065

line are15. How many kinds of delay
available in CRO ?

G) Onekind

(b) Two kinds

(c) Three kinds

(d) Four kinds

Electron guns in a dual beam CRO
are

(a) only one

O) two separate

(c) three separate

(d) none ofthese

Retention time of the storage CRO is

(a) in seconds

O) in milliseconds

(c) in hours

(d) all ofthe above

When same magnitude and same

frequency sigrals whose phase

difference is 90" are applied to both
vertical and horizontal plates of CRO
thor the figure will be on CRO screen

(a) Straight line
(b) Circle
(c) Parabola

(d) Hyperbola

19. The storage factor Q of a resonant
circuit is

woL
R

WoR

L

16.

17.

18.

(a)

(c)

WL
o) 

"fr-
1
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20. ffi RLC fiqqt r5meqfu rt+t
(a)

(b)

(c)

(d)

qr airr ct{d
orqft-{++qqrqd

(a) {'qrRT

(b) nt-ffi
(c) ctunq

(d) scfrffrlfr

+ ErH situd d

\rrrfr{H qfrT dilr aq gilq 6TdI t
(a) qririT

O) Eri-srdirl
(c) fr{qilr
(d) sqnffi{S

\rs eflifum' orqfu .r"m'+ oIrSfu +1
qur+ ord t
(a) EYr.F. {urt5'ET{I

(b) tqt{Err
(c) ffitr6qr
(d) ne+o,rrr

r*c aflqfr qFr* { dh +*q si qk{
oqfu#+s{q*r+{rqtfun
(a) tdc
@) ,i{Uq
(c) tdccd efi.dcsH
(d) Bntntt+t$Tfi

I
znltc
2n

{LC
IT
2fi

I

2nLC

21.

)')

,7

24.

(s) 2065

an RLC20. The resonant fiequency
circuit is

I
2,r{LC
2n

!LC
LC
2tz

1

2nLC

(c)

(d)

(a)

o)

In a Hartly oscillator of sine wave
generator the non-variable quantity is

(a) Capacitor

O) lnductor

(c) Resistor

(d) All of the above

A function getrerator can provide
wave forms
(a) sine wave

(b) square wave

(c) triangle wave

(d) all of the above

In a digital frequency counter the
frequorcy is counted by

G) decade counter

O) inverter

(c) @nverter

(d) amplifier

In a sweep frequency generator the
relationship between the sweeP

voltage and the frequency of the
oscillator should be
(a) linear
(b) non-linear
(c) both linear and nonJinear
(d) none ofthe above

P.T.O.

21.

23.

24.
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zs. qr{ft {irefr( {k qGr* it +.S.d.
sp3sqftrfu qrqfr+ds.{it
(a) qrail*egRI

o) qrqRrEr-n

(c) qtqfr*rnr
(d) EiiIi+*Tfi

26. FiEili:T6q{ q{Aqrtffi 6+drt
dEq\srg(a) -ffi-

q-cftr
(b) ffiffi
(c) d-(Mx ircfu
(d) qiE#-q-sftr

27. frr1qr6Et{,qr++drt
(a) f{H qrqfuEi
(b) raeflqfrEi
(c) +-ssrrqfr+i
(d) +q 3{rqftsn

28. +i< rir it r ooz" t sox ils {rqrq
efiqrc il6 qtqi ii flrn ncq 6 drfl t
(a) qro zr*q
(b) rr+qzr{c
(c) +cfr'rzriq
(d) {tdt+*Tfi

2e. ,)EqZftffiqrl-t{*dtr
(r) qr{fu
(b) a{-cftr

(c) srr{fu Cd 3q-cfu dit
(d) F{,I++t=rS

ro. qqq *{ frq qe+sit +} ETa tdr t
(a) Tlur6.6lt+e6T{r

O) qorornoldrnr
(c) rP67Pq)qq5'6t
(d) Bq{tff{S

2065

In a frequency synthesized sipal
generator the V.C.O. provide out
frequency by applying
(a) variable voltage
(b) variable current
(c) variable capacitor
(d) none of these

Dury cycle of a pulse wave form is

oulse width(a) - p*r.d
neriod(b) pd*--td,h

(c) pulse width x period
(d) pulse width - period

[,ow pass filter passes the
(a) low frequency
(b) High frequency
(") Band fiequency
(d) Notch frequency

The time required for the pulse to
increase liom 10% to 90% of its
normal amplitude is called
(a) fall time
(b) rise time
(c) settling time
(d) none ofthese

Gating eror is occurred in
measurernent of
(a) frequency
(b) period
(c) both frequency and period
(d) none ofttrese

Time base provide the timing for the
following events :

(a) Reset the counter
(b) Open the count gate
(c) Close the count gate
(d) AII of the above

(6)

25.

26.

27.

28.

29.

30.
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Note :

(i,

(ii,

(iv)

tqq w7 q4d; dq d. d Gr€i ?fu #rars?Fil+ I

Question No. 1 is compulsory, answer any five questions from the remaining.

rdq yw t sri sri 6l flw w stE dd dtw t

Solve all parts ofa question consecatively together.

rdo sl.+ 61 7t Vv d rrsr 6?&(r /

Start each question on a fresh page.

<ir',nvql d srf,{ dl+ d Md t a*q?'ryerc a? qm * r

Only English version is valid in case ofdifference in both the languages.

ftt{e-d zir 6i fu.tfi eTrrdrt flr ilq{ t z

What do you mean by resolution power of digital instrument ?

fttrgs-dSq-factor uRI rtn +IIddl t ?

What is the value of Q-factor of an inductive coil ?

eflqd t+& + 3{r<fr6sftr{iq sr qtr Hr *dr t t

What is the value of intetnel impedance of ideal ammeter ?

(ii)

(iii)

(7) P.T.O.

206s
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(iv) cRo +t cnr *'ge'nr#anfrfuq r

Write the major components of Cathode Ray Tube (CRT) of CRO. '

(v) gurkmtmrcrr{tr l
What do you'mean by Sensitivity ? (2x5)

2. (i) c-d+etilir n-fl{ft qm felrd\rdqtqEqnrfurqqrq-t qfrqq 6isrgr{+ r

Explain the circuit of a multimetfi for measurement of A.C. voltage and D.C.

voh4ge.

I .^(ii) (r64i it'*tq rdfretor sqt r furd Hc{ fi lecFdqr qdr t r

I
A 4, digit multimeter is used flor voltage measurements.

(a) g{ tsts.d q-d+.{6} ffiq{ qqdr flr ffi r

Find its resolution power.

(b) l0 v tq q{ 12.e8 v fu$ }rd6nFqFm t}rn r

How would 12.98 V be displayed on l0 V range ?

(c) l v d{ 10 v tEy{0.6973 f+'sn+nq-qfrHdrfi r

How would 0.6973 be displayed on I V and l0 V ranges ? (3+S, Zx3)

3. (i) {qfud+{TVr\, +cftqprfrifteqrrforeqrq{tq{TrrtA r

Explain the balance bridge TVM circuit for D.C. voltage measurernent.

(i0 tc ffiRRfl{.d ffier+1+r{qund +} eo-s s{rte skd qrard r

Explain the working of Ramp tlpe digital volEneter with block diagram. (6+6)
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- 4. (i) cRrii{+qi<{q+sdfu$cqiqaiwo,g+adftv r

Derive an expression for vertical deflection ofan electron beam in a CRT.

(ii) cRo +BqqlT ERr Hqik *qrqt +i f+-s v-+nfoq qnr t rrrrgr{+ :

Describe how the following measurements can be made with use of a CRO :

(a) sTr{fu

Frequency

(b) q-er +lur

Phase angle

(c) furd

Voltage (6,2x3)

5. (D w{qfr, +rqusoflts e-{rtnsire*.eo-sdor{frftrqrflEi r

Draw the block diagrarn of function generator and explain the working of each

block.

(iD q-+.r Enr {'sd * }r*n acr qrfuflI qrq-t +t frfu or sfu* qoia +tfrq r

Explain with diagram, measurement of inductance and capacitance of a coil

using Q-meter. (3+3, 3+3)

6. (i) {*caflgfrqfr*+lorffi +}erssiltqErrvrfr{i r

Explain the working of Sweep frequency generator with the help of block

diagram.

(iD tktsrf{ dtrr ffin-+'+t sr{qqtfr a} qre qte rm cEtar5+ r

Explain the working of heterodyne wave analyzer with the help of block

diagram. (61'6)

P.T.O.
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7. (i) tTEifrildeqfrwm#{+tdsryrt+,

Decribe the following with respect to frequency counter :

(r) vwernrtlfu

Time base error

C) ntor1fs

Gating error

(c) trrwZE
Trigger level error

(i0 +q +d{Errqqqr<<rf, qrq{ frfu 6} (fu? {Fflr{+ t

Explain the time interval measurernealt method using Wave met€r with help of

block diagram. (2x3' 6)

s. frqq{{R1qffifrfuq: (ffi+)
Write short not€s on the following : (any two)

(i) Erc]k6fu5qurfr{Asd-

Harmonic distortion analyser

(i0 qqtd {rAqur {+( {{t {

Frequency synthesised sigral generator

(iii) cRo dr{

CROprobe (6x2)
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